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T.Y.B.Com. (Sem-VI) June-2023

Business Economics - VI
(Time: 3 Hours) (Marks: 100)

Please check whether you got the right question paper.
N.B.: 1. All questions are compulsory.
2. Figure to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Q.1.A) Select the right answers and rewrite the statements (Any 10) (10)
1. explained the basis of international trade in terms of factor endowments.
a) David Ricardo b) Heckscher and Ohlin
¢) Adam Smith d) Barry wind
2. occur because of the factor price differences in the two countries.
a) Revenue Difference  b) Opportunity cost
c) Cost differences d) profit

3. The offer curve of a country is determined by -------------------------- .
a) price of exports b) price of imports
c) Supply price d) relative prices of two commodities

4. Which one of the following is an argument for free trade?
a) Protects domestic industries.
b) Promotes self-sufficiency.
c)Helps diversification of industries.
d)Promotes efficient allocation of world resources.

5. The reduction in domestic consumption due to imposition of quotas results in --------- :
a) Increase in government revenue  b) Increase in consumer’s surplus
c)Loss of social welfare d)Increase in social welfare.

6. Which of the following is not a type of international economic integration.
a) Economic Union b) Customs Union
c) Fiscal Union d) Single Market

7. Which of the following agreements deals with trade in services?
a) GATS
b) TRIPs
c) TRIMs
d) GATT
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8. Balance of payment is defined as---------- .
a. An annual report of all the imports and exports of a country in a year
b. A record of the flow of income from India to other countries
c. A systematic record of all economic transaction between the residents of a country
and residents of foreign countries during given period of time
d. Record of transactions.

9. A position of disequilibrium in balance of payment exists when ----------- .
a. The demand for foreign exchange exceeds its supply.
b. The supply of foreign exchange remains same
c. Both supply and demand for foreign exchange are equal
d. The supply for foreign exchange is rising.

10. Hedging operation helps the participants to--------------- (
a) Purchase foreign exchange b) Sale foreign exchange
c) Cover the risk. d) Cover free goods

11. The intersections of the demand and supply curves of foreign exchange determine-------- .
a) Fixed rate of exchange
b) Flexible rate of exchange
c¢) Equilibrium rate of exchange
d) Managed rate of exchange

12. Speculation in the foreign exchange market means buying and selling foreign currency
with the aim of -------------- .
a) covering market b) making profit
c) making trade d) making near price

Q.1. B) State whether the following statements are True or False. (Any 10) (10)

1. The comparative cost theory is not applicable to the real world.
2. Factor abundance results in low factor cost.
3. International trade increases welfare of only importing countries.

4. A commercial trade policy is a government policy.

5. Infant industries need protection from foreign competition.

6. To generate employment within the country is the objective of Tariffs.

7. Balance of payment includes only invisible services.

8. The monetary measures are indirect methods of correcting disequilibrium in BOP.
9. The Agreement on TRIMS covers copyright and related rights.

10.The geographical coverage of the foreign exchange market is limited.

11. The spot rate is determined by the demand for and supply of a currency.

12. Exports are not a major source of supply of foreign exchange.
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Q.2 Attempt any two of the following. (15)
a) Bring out the limitations of Ricardian theory of comparative cost.
b) Describe in detail Net barter terms of trade and Gross barter terms of trade.
c) Explain the various types of gains from trade.

Q.3 Attempt any two of the following. (15)
a) Discuss the arguments in favour of protection policy.
b) Examine the effects of tariffs.
c) Describe the different types of non- tariff barriers.

Q.4 Attempt any two of the following: (15)
a) Explain the structure of balance of payments.
b) Discuss the direct measures to correct disequilibrium in balance of payments.
c) Describe WTO agreements on TRIPs and TRIMs.

Q.5 Attempt any two of the following. (15)
a) Explain the determination of equilibrium exchange rate.
b) Discuss absolute and relative version of purchasing power parity theory.
c) Describe managed flexibility exchange rate system in India.

Q.6 Write short notes on any four of the following: (20)
a) Factor intensity and factor abundance criteria.
b) Factors affecting terms of trade.
c) Brexit
d) Causes of disequilibrium in balance of payments
e) Functions of foreign exchange market
f) Spot and forward rate
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